

AN IMPROPER INTEGRAL WITH A SQUARE ROOT

FENG QI

Institute of Mathematics, Henan Polytechnic University, Jiaozuo City, Henan Province 454010, China; College of Mathematics, Inner Mongolia University for Nationalities, Tongliao City, Inner Mongolia Autonomous Region 028043, China; Department of Mathematics, College of Science, Tianjin Polytechnic University, Tianjin City 300387, China

ABSTRACT. In the paper, the author presents explicit and unified expressions for a sequence of improper integrals in terms of the beta functions and the Wallis ratios. Hereafter, the author derives integral representations for the Catalan numbers originating from combinatorics.

1. INTRODUCTION

Let a be a positive number. For $n \geq 0$, define

$$I_n = \int_{-a}^a x^n \sqrt{\frac{a+x}{a-x}} dx. \quad (1)$$

In [1, Section 3], Dana-Picard and Zeitoun computed $I_0 = a\pi$ and found a closed form of I_n for $n \in \mathbb{N}$ in three steps:

- (1) establishing a formula of recurrence between I_n and I_{n+1} in terms of

$$S_n = \int_{-\pi/2}^{\pi/2} \sin^n \theta d\theta; \quad (2)$$

- (2) establishing an equation for I_n in terms of S_n ;
 (3) and establishing different expressions for odd values and even values of n .

The aim of this note is to discuss once again the sequence I_n and correct some errors and typos appeared in [1, Section 3].

2. EXPLICIT AND UNIFIED EXPRESSIONS FOR I_n

The sequence I_n can be computed by several methods below.

E-mail address: qifeng618@gmail.com, qifeng618@hotmail.com.

2010 *Mathematics Subject Classification.* Primary 26A39; Secondary 11B65, 11B75, 11B83, 26A42, 33B15.

Key words and phrases. improper integral; explicit expression; unified expression; beta function; Wallis ratio; integral representation; Catalan number.

This paper was typeset using $\mathcal{A}\mathcal{M}\mathcal{S}\text{-}\mathcal{L}\mathcal{A}\mathcal{T}\mathcal{E}\mathcal{X}$.

Theorem 2.1. For $n \geq 0$, the sequence I_n can be computed by

$$I_n = a^{n+1} \pi \left[\frac{1 + (-1)^n}{n} \frac{1}{B\left(\frac{1}{2}, \frac{n}{2}\right)} + \frac{1 + (-1)^{n+1}}{n+1} \frac{1}{B\left(\frac{1}{2}, \frac{n+1}{2}\right)} \right], \quad (3)$$

where

$$B(p, q) = \int_0^1 t^{p-1} (1-t)^{q-1} dt = \int_0^\infty \frac{t^{p-1}}{(1+t)^{p+q}} dt = \frac{\Gamma(p)\Gamma(q)}{\Gamma(p+q)} \quad (4)$$

and

$$\Gamma(z) = \int_0^\infty t^{z-1} e^{-t} dt$$

for $\Re(p), \Re(q) > 0$ and $\Re(z) > 0$ denote the Euler integrals of the second kinds (or say, the classical beta and gamma functions) respectively.

Proof. By some properties of definite integral and straightforward computation, we can write

$$\begin{aligned} I_n &= \int_{-a}^0 x^n \sqrt{\frac{a+x}{a-x}} dx + \int_0^a x^n \sqrt{\frac{a+x}{a-x}} dx \\ &= \int_a^0 (-y)^n \sqrt{\frac{a+(-y)}{a-(-y)}} d(-y) + \int_0^a x^n \sqrt{\frac{a+x}{a-x}} dx \\ &= \int_0^a (-1)^n y^n \sqrt{\frac{a-y}{a+y}} dy + \int_0^a x^n \sqrt{\frac{a+x}{a-x}} dx \\ &= \int_0^a x^n \left[(-1)^n \sqrt{\frac{a-x}{a+x}} + \sqrt{\frac{a+x}{a-x}} \right] dx \\ &= \int_0^a x^n \frac{(a+x) + (-1)^n (a-x)}{\sqrt{a^2-x^2}} dx \\ &= \int_0^a x^n \frac{a[1+(-1)^n] + x[1-(-1)^n]}{\sqrt{a^2-x^2}} dx \\ &= a[1+(-1)^n] \int_0^a \frac{x^n}{\sqrt{a^2-x^2}} dx + [1-(-1)^n] \int_0^a \frac{x^{n+1}}{\sqrt{a^2-x^2}} dx. \end{aligned}$$

In [8, Theorem 3.1], it was obtained that

$$\int_0^a \frac{x^n}{\sqrt{a^2-x^2}} dx = \sqrt{\pi} a^n \frac{\Gamma\left(\frac{n}{2} + \frac{1}{2}\right)}{n\Gamma\left(\frac{n}{2}\right)}$$

for $a > 0$ and $n \geq 0$. Accordingly, considering

$$\Gamma\left(\frac{1}{2}\right) = \sqrt{\pi}, \quad (5)$$

we acquire

$$\begin{aligned} I_n &= a[1+(-1)^n] \sqrt{\pi} a^n \frac{\Gamma\left(\frac{n}{2} + \frac{1}{2}\right)}{n\Gamma\left(\frac{n}{2}\right)} + [1-(-1)^n] \sqrt{\pi} a^{n+1} \frac{\Gamma\left(\frac{n+1}{2} + \frac{1}{2}\right)}{(n+1)\Gamma\left(\frac{n+1}{2}\right)} \\ &= \sqrt{\pi} a^{n+1} \left([1+(-1)^n] \frac{\Gamma\left(\frac{n+1}{2}\right)}{n\Gamma\left(\frac{n}{2}\right)} + [1-(-1)^n] \frac{\Gamma\left(\frac{n}{2} + 1\right)}{(n+1)\Gamma\left(\frac{n+1}{2}\right)} \right) \end{aligned}$$

$$\begin{aligned}
&= a^{n+1} \pi \left[\frac{1 + (-1)^n}{n} \frac{\Gamma(\frac{n+1}{2})}{\Gamma(\frac{1}{2})\Gamma(\frac{n}{2})} + \frac{1 - (-1)^n}{n+1} \frac{\Gamma(\frac{n}{2} + 1)}{\Gamma(\frac{1}{2})\Gamma(\frac{n+1}{2})} \right] \\
&= a^{n+1} \pi \left[\frac{1 + (-1)^n}{n} \frac{1}{B(\frac{1}{2}, \frac{n}{2})} + \frac{1 + (-1)^{n+1}}{n+1} \frac{1}{B(\frac{1}{2}, \frac{n+1}{2})} \right].
\end{aligned}$$

The proof of Theorem 2.1 is complete. \square

Theorem 2.2. For $n \geq 0$, the sequence I_n can be computed by

$$I_n = \frac{1}{2} a^{n+1} \left([1 + (-1)^n] B\left(\frac{1}{2}, \frac{n+1}{2}\right) + [1 + (-1)^{n+1}] B\left(\frac{1}{2}, \frac{n+2}{2}\right) \right). \quad (6)$$

Proof. Changing the variable of integration by $x = at$ in (1) and using some other properties of definite integral give

$$\begin{aligned}
I_n &= \int_{-1}^1 (at)^n \sqrt{\frac{a+at}{a-at}} a \, dt \\
&= a^{n+1} \int_{-1}^1 t^n \sqrt{\frac{1+t}{1-t}} \, dt \\
&= a^{n+1} \left(\int_{-1}^0 t^n \sqrt{\frac{1+t}{1-t}} \, dt + \int_0^1 t^n \sqrt{\frac{1+t}{1-t}} \, dt \right) \\
&= a^{n+1} \left[\int_0^1 (-s)^n \sqrt{\frac{1-s}{1+s}} \, ds + \int_0^1 t^n \sqrt{\frac{1+t}{1-t}} \, dt \right] \\
&= a^{n+1} \int_0^1 t^n \left[(-1)^n \sqrt{\frac{1-t}{1+t}} + \sqrt{\frac{1+t}{1-t}} \right] \, dt \\
&= a^{n+1} \int_0^1 t^n \left[(-1)^n \frac{1-t}{\sqrt{1-t^2}} + \frac{1+t}{\sqrt{1-t^2}} \right] \, dt \\
&= a^{n+1} \left([1 + (-1)^n] \int_0^1 \frac{t^n}{\sqrt{1-t^2}} \, dt + [1 - (-1)^n] \int_0^1 \frac{t^{n+1}}{\sqrt{1-t^2}} \, dt \right) \\
&= a^{n+1} \left([1 + (-1)^n] \int_0^{\pi/2} \frac{\sin^n s}{\sqrt{1-\sin^2 s}} \cos s \, ds \right. \\
&\quad \left. + [1 - (-1)^n] \int_0^{\pi/2} \frac{\sin^{n+1} s}{\sqrt{1-\sin^2 s}} \cos s \, ds \right) \\
&= a^{n+1} \left([1 + (-1)^n] \int_0^{\pi/2} \sin^n s \, ds + [1 - (-1)^n] \int_0^{\pi/2} \sin^{n+1} s \, ds \right).
\end{aligned}$$

Further making use of the formula

$$\int_0^{\pi/2} \sin^t x \, dx = \frac{1}{2} B\left(\frac{t+1}{2}, \frac{1}{2}\right), \quad t > -1$$

in [8, Remark 6.4] yields

$$\begin{aligned}
I_n &= a^{n+1} \left([1 + (-1)^n] \frac{1}{2} B\left(\frac{1}{2}, \frac{n+1}{2}\right) + [1 - (-1)^n] \frac{1}{2} B\left(\frac{1}{2}, \frac{n+2}{2}\right) \right) \\
&= \frac{1}{2} a^{n+1} \left([1 + (-1)^n] B\left(\frac{1}{2}, \frac{n+1}{2}\right) + [1 + (-1)^{n+1}] B\left(\frac{1}{2}, \frac{n+2}{2}\right) \right).
\end{aligned}$$

The proof of Theorem 2.2 is complete. \square

Corollary 2.1. For $m \geq 0$, the sequences I_{2m} and I_{2m+1} can be explicitly computed by

$$I_{2m} = \pi a^{2m+1} \frac{(2m-1)!!}{(2m)!!}$$

and

$$I_{2m+1} = \pi a^{2(m+1)} \frac{(2m+1)!!}{(2m+2)!!}.$$

Proof. From the recurrence relation

$$\Gamma(x+1) = x\Gamma(x), \quad x > 0 \quad (7)$$

and the identity (5), we obtain

$$\Gamma\left(m + \frac{1}{2}\right) = \frac{(2m-1)!!}{2^m} \Gamma\left(\frac{1}{2}\right) = \frac{(2m-1)!!}{2^m} \sqrt{\pi}.$$

By this equality and the last expression in (4), we derive

$$\begin{aligned} B\left(\frac{1}{2}, \frac{n}{2}\right) &= \frac{\Gamma\left(\frac{1}{2}\right)\Gamma\left(\frac{n}{2}\right)}{\Gamma\left(\frac{n+1}{2}\right)} = \begin{cases} \frac{\Gamma\left(\frac{1}{2}\right)\Gamma(m)}{\Gamma\left(m + \frac{1}{2}\right)}, & n = 2m \\ \frac{\Gamma\left(\frac{1}{2}\right)\Gamma\left(m + \frac{1}{2}\right)}{\Gamma(m+1)}, & n = 2m+1 \end{cases} \\ &= \begin{cases} \frac{\sqrt{\pi}(m-1)!}{(2m-1)!!\sqrt{\pi}}, & n = 2m \\ \frac{\sqrt{\pi}\frac{(2m-1)!!}{2^m}\sqrt{\pi}}{m!}, & n = 2m+1 \end{cases} = \begin{cases} 2\frac{(2m-2)!!}{(2m-1)!!}, & n = 2m; \\ \pi\frac{(2m-1)!!}{(2m)!!}, & n = 2m+1. \end{cases} \end{aligned}$$

Substituting this into (6) reveals

$$I_{2m} = \frac{1}{2} a^{2m+1} \left[2B\left(\frac{1}{2}, \frac{2m+1}{2}\right) \right] = a^{2m+1} \pi \frac{(2m-1)!!}{(2m)!!}$$

and

$$I_{2m+1} = \frac{1}{2} a^{2(m+1)} \left[2B\left(\frac{1}{2}, \frac{2m+3}{2}\right) \right] = a^{2(m+1)} \pi \frac{(2m+1)!!}{(2m+2)!!}.$$

The proof of Corollary 2.1 is complete. \square

3. INTEGRAL REPRESENTATIONS FOR THE CATALAN NUMBERS

The Catalan numbers C_n for $n \geq 0$ form a sequence of natural numbers that occur in various counting problems in combinatorial mathematics. The n th Catalan number can be expressed in terms of the central binomial coefficients $\binom{2n}{n}$ by

$$C_n = \frac{1}{n+1} \binom{2n}{n}. \quad (8)$$

Theorem 3.1. For $n \geq 0$ and $a > 0$, the Catalan numbers C_n can be represented by

$$\begin{aligned} C_n &= \frac{1}{\pi} \frac{4^n}{n+1} \frac{1}{a^{2n+1}} \int_{-a}^a x^{2n} \sqrt{\frac{a+x}{a-x}} dx \\ &= \frac{1}{\pi} \frac{2^{2n+1}}{n+1} \frac{1}{a^{2n}} \int_0^a \frac{x^{2n}}{\sqrt{a^2-x^2}} dx \\ &= \frac{1}{\pi} \frac{2^{2n+1}}{n+1} \int_0^{\pi/2} \sin^{2n} x dx \end{aligned} \quad (9)$$

and

$$\begin{aligned} C_n &= \frac{1}{\pi} \frac{2^{2n+1}}{2n+1} \frac{1}{a^{2n+2}} \int_{-a}^a x^{2n+1} \sqrt{\frac{a+x}{a-x}} dx \\ &= \frac{1}{\pi} \frac{2^{2n+2}}{2n+1} \frac{1}{a^{2n+2}} \int_0^a \frac{x^{2n+2}}{\sqrt{a^2-x^2}} dx \\ &= \frac{1}{\pi} \frac{2^{2n+2}}{2n+1} \int_0^{\pi/2} \sin^{2n+2} x dx. \end{aligned} \quad (10)$$

Proof. From the recurrence relation (7) and the identity (5), it is not difficult to show that the Catalan numbers C_n can be expressed in terms of the gamma function Γ by

$$C_n = \frac{4^n \Gamma(n+1/2)}{\sqrt{\pi} \Gamma(n+2)}, \quad n \geq 0.$$

This implies that

$$C_n = \frac{1}{\pi} \frac{4^n}{n+1} B\left(\frac{1}{2}, n+\frac{1}{2}\right). \quad (11)$$

Taking $n = 2p$ in (6) and utilizing (11) lead to

$$I_{2p} = a^{2p+1} B\left(\frac{1}{2}, \frac{2p+1}{2}\right) = a^{2p+1} \pi \frac{p+1}{4^p} C_n$$

which is equivalent to

$$C_n = \frac{4^n}{n+1} \frac{1}{a^{2n+1} \pi} I_{2n} = \frac{1}{\pi} \frac{4^n}{n+1} \frac{1}{a^{2n+1}} \int_{-a}^a x^{2n} \sqrt{\frac{a+x}{a-x}} dx.$$

The first formula in (9) thus follows.

By similar argument to the deduction of (11), we can discover

$$C_n = \frac{4^{n+1}}{(2n+1)(2n+2)} \frac{1}{B\left(\frac{1}{2}, n+1\right)}, \quad n \geq 0.$$

Employing this identity and setting $n = 2p+1$ in (3) figures out

$$I_{2p+1} = a^{2p+2} \frac{2\pi}{2p+2} \frac{1}{B\left(\frac{1}{2}, p+1\right)} = a^{2p+2} \frac{2\pi}{2p+2} \frac{(2p+1)(2p+2)}{4^{p+1}} C_p$$

which can be rearranged as

$$C_p = \frac{1}{a^{2p+2}} \frac{1}{\pi} \frac{2^{2p+1}}{2p+1} I_{2p+1} = \frac{1}{\pi} \frac{1}{a^{2p+2}} \frac{2^{2p+1}}{2p+1} \int_{-a}^a x^{2p+1} \sqrt{\frac{a+x}{a-x}} dx.$$

The first formula in (10) is thus proved.

The rest integral representations follow from techniques used in the proofs of Theorems (2.1) and (2.2) and from changing variable of integration. \square

4. REMARKS

Finally, we state several remarks on our main results.

Remark 4.1. The expressions in Corollary 2.1 and the integral representation (9) correct [1, Proposition 3.1 and Corollary 3.2] respectively.

Remark 4.2. Since

$$B\left(\frac{1}{2}, \frac{t+1}{2}\right)B\left(\frac{1}{2}, \frac{t}{2}\right) = \frac{2\pi}{t}$$

for $t > 0$, the formulas (3) and (6) can be transferred to each other. However, the formula (6) looks simpler.

Remark 4.3. Considering (8), we can rewritten the integral representations in (9) and (10) as

$$\begin{aligned} \binom{2n}{n} &= \frac{1}{\pi} \frac{4^n}{a^{2n+1}} \int_{-a}^a x^{2n} \sqrt{\frac{a+x}{a-x}} dx \\ &= \frac{1}{\pi} \frac{2^{2n+1}}{a^{2n}} \int_0^a \frac{x^{2n}}{\sqrt{a^2-x^2}} dx \\ &= \frac{1}{\pi} 2^{2n+1} \int_0^{\pi/2} \sin^{2n} x dx \end{aligned}$$

and

$$\begin{aligned} \binom{2n}{n} &= \frac{1}{\pi} \frac{2^{2n+1}(n+1)}{2n+1} \frac{1}{a^{2n+2}} \int_{-a}^a x^{2n+1} \sqrt{\frac{a+x}{a-x}} dx \\ &= \frac{1}{\pi} \frac{2^{2n+2}(n+1)}{2n+1} \frac{1}{a^{2n+2}} \int_0^a \frac{x^{2n+2}}{\sqrt{a^2-x^2}} dx \\ &= \frac{1}{\pi} \frac{2^{2n+2}(n+1)}{2n+1} \int_0^{\pi/2} \sin^{2n+2} x dx. \end{aligned}$$

for $n \geq 0$.

Remark 4.4. It is well known that the Wallis ratio is defined by

$$W_n = \frac{(2n-1)!!}{(2n)!!} = \frac{(2n)!}{2^{2n}(n!)^2} = \frac{1}{\sqrt{\pi}} \frac{\Gamma(n+1/2)}{\Gamma(n+1)}, \quad n \in \mathbb{N}.$$

As a result, we have

$$I_{2m} = \pi a^{2m+1} W_m$$

and

$$I_{2m+1} = \pi a^{2m+2} W_{m+1}$$

for $m \geq 0$.

The Wallis ratio has been studied and applied by many mathematicians. For more information, please refer to [2, 3, 7, 12, 14], for example, and plenty of literature therein.

Remark 4.5. In [3], the formula

$$\int_0^{\pi/2} \sin^t x dx = \frac{\sqrt{\pi}}{2} \frac{\Gamma(\frac{t+1}{2})}{\Gamma(\frac{t+2}{2})}, \quad t > -1 \quad (12)$$

was stated. See also [7, p. 16, Eq. (2.18)]. In [6, p. 142, Eq. 5.12.2], the formula

$$\int_0^{\pi/2} \sin^{2a-1} \theta \cos^{2b-1} \theta d\theta = \frac{1}{2} B(a, b), \quad \Re(a), \Re(b) > 0 \quad (13)$$

was listed. By (12) or (13), we can find that the quantity S_n defined in (2) is

$$S_n = \int_{-\pi/2}^0 \sin^n x dx + \int_0^{\pi/2} \sin^n x dx$$

$$\begin{aligned} &= \int_0^{\pi/2} (-1)^n \sin^n x \, dx + \int_0^{\pi/2} \sin^n x \, dx \\ &= \frac{1 + (-1)^n}{2} B\left(\frac{n+1}{2}, \frac{1}{2}\right). \end{aligned}$$

Remark 4.6. In [11, Theorem 2.3], among other things, the integral formulas

$$\begin{aligned} \int_a^b \left(\frac{b-t}{t-a}\right)^\lambda dt &= (b-a) \frac{\lambda\pi}{\sin(\lambda\pi)}, \\ \int_a^b \left(\frac{b-t}{t-a}\right)^\lambda \frac{1}{t} dt &= \frac{\pi}{\sin(\lambda\pi)} \left[\left(\frac{b}{a}\right)^\lambda - 1 \right], \\ \int_a^b \left(\frac{b-t}{t-a}\right)^\lambda \frac{1}{t^{k+1}} dt &= \frac{\pi}{\sin(\lambda\pi)} \left(\frac{b}{a}\right)^\lambda \frac{1}{a^k} \sum_{\ell=0}^k \frac{\langle \lambda \rangle_\ell}{\ell!} \binom{k-1}{\ell-1} \left(1 - \frac{a}{b}\right)^\ell \end{aligned}$$

for $b > a > 0$, $k \in \mathbb{N}$, and $\lambda \in (-1, 1) \setminus \{0\}$ were derived, where

$$\langle x \rangle_n = \begin{cases} \prod_{k=0}^{n-1} (x-k), & n \geq 1 \\ 1, & n = 0 \end{cases}$$

is called the falling factorial. In [11, Remark 4.4], the integral formula

$$\begin{aligned} \int_a^b \left(\frac{b-t}{t-a}\right)^\lambda \frac{1}{t} \ln \frac{b-t}{t-a} dt \\ = \begin{cases} \frac{\pi}{\sin(\lambda\pi)} \left\{ \left(\frac{b}{a}\right)^\lambda \ln \frac{b}{a} - \pi \cot(\lambda\pi) \left[\left(\frac{b}{a}\right)^\lambda - 1 \right] \right\}, & \lambda \neq 0 \\ \frac{1}{2} \left(\ln \frac{b}{a} \right), & \lambda = 0 \end{cases} \end{aligned}$$

was concluded from [11, Theorem 2.3]. By comparing the forms of these integrals and I_n , we naturally propose a problem: can one explicitly compute the integrals

$$\int_a^b \left(\frac{b-t}{t-a}\right)^\lambda t^\alpha dt \quad \text{and} \quad \int_a^b t^\alpha \left(\frac{b-t}{t-a}\right)^\lambda \ln \frac{b-t}{t-a} dt$$

for

$$\alpha \in \begin{cases} \mathbb{R}, & b > a > 0 \\ \mathbb{N}, & b > 0 > a \end{cases}$$

and $\lambda \in (-1, 1)$?

Remark 4.7. In recent years, the Catalan numbers C_n has been analytically generalized and studied in [4, 5, 9, 10, 13, 15, 16, 17] and closely-related references therein.

REFERENCES

- [1] T. Dana-Picard and D. G. Zeitoun, *Parametric improper integrals, Wallis formula and Catalan numbers*, *Internat. J. Math. Ed. Sci. Tech.* **43** (2012), no. 4, 515–520; Available online at <http://dx.doi.org/10.1080/0020739X.2011.599877>.
- [2] B.-N. Guo and F. Qi, *On the Wallis formula*, *Internat. J. Anal. Appl.* **8** (2015), no. 1, 30–38.
- [3] D. K. Kazarinoff, *On Wallis' formula*, *Edinburgh Math. Notes* **1956** (1956), no. 40, 19–21.

- [4] F.-F. Liu, X.-T. Shi, and F. Qi, *A logarithmically completely monotonic function involving the gamma function and originating from the Catalan numbers and function*, *Glob. J. Math. Anal.* **3** (2015), no. 4, 140–144; Available online at <http://dx.doi.org/10.14419/gjma.v3i4.5187>.
- [5] M. Mahmoud and F. Qi, *Three identities of the Catalan–Qi numbers*, *Mathematics* **4** (2016), no. 2, Article 35, 7 pages; Available online at <http://dx.doi.org/10.3390/math4020035>.
- [6] F. W. J. Olver, D. W. Lozier, R. F. Boisvert, and C. W. Clark (eds.), *NIST Handbook of Mathematical Functions*, Cambridge University Press, New York, 2010; Available online at <http://dlmf.nist.gov/>.
- [7] F. Qi, *Bounds for the ratio of two gamma functions*, *J. Inequal. Appl.* **2010** (2010), Article ID 493058, 84 pages; Available online at <http://dx.doi.org/10.1155/2010/493058>.
- [8] F. Qi, *Parametric integrals, the Catalan numbers, and the beta function*, *Elem. Math.* **72** (2017), in press.
- [9] F. Qi and B.-N. Guo, *Logarithmically complete monotonicity of a function related to the Catalan–Qi function*, *Acta Univ. Sapientiae Math.* **8** (2016), no. 1, 93–102; Available online at <http://dx.doi.org/10.1515/ausm-2016-0006>.
- [10] F. Qi and B.-N. Guo, *Logarithmically complete monotonicity of Catalan–Qi function related to Catalan numbers*, *Cogent Math.* (2016), **3**:1179379, 6 pages; Available online at <http://dx.doi.org/10.1080/23311835.2016.1179379>.
- [11] F. Qi and B.-N. Guo, *The reciprocal of the weighted geometric mean is a Stieltjes function*, *Bol. Soc. Mat. Mex.* (3) **23** (2017), in press; Available online at <http://dx.doi.org/10.1007/s40590-016-0151-5>.
- [12] F. Qi and M. Mahmoud, *Some properties of a function originating from geometric probability for pairs of hyperplanes intersecting with a convex body*, *Math. Comput. Appl.* **21** (2016), no. 3, Article 27, 6 pages; Available online at <http://dx.doi.org/10.3390/mca21030027>.
- [13] F. Qi, M. Mahmoud, X.-T. Shi, and F.-F. Liu, *Some properties of the Catalan–Qi function related to the Catalan numbers*, SpringerPlus (2016), **5**:1126, 20 pages; Available online at <http://dx.doi.org/10.1186/s40064-016-2793-1>.
- [14] F. Qi and C. Mortici, *Some best approximation formulas and inequalities for the Wallis ratio*, *Appl. Math. Comput.* **253** (2015), 363–368; Available online at <http://dx.doi.org/10.1016/j.amc.2014.12.039>.
- [15] F. Qi, X.-T. Shi, F.-F. Liu, and D. V. Kruchinin, *Several formulas for special values of the Bell polynomials of the second kind and applications*, ResearchGate Technical Report (2015), available online at <http://dx.doi.org/10.13140/RG.2.1.3230.1927>; *J. Appl. Anal. Comput.* (2017), in press.
- [16] F. Qi, X.-T. Shi, M. Mahmoud, and F.-F. Liu, *The Catalan numbers: a generalization, an exponential representation, and some properties*, ResearchGate Research (2015), available online at <http://dx.doi.org/10.13140/RG.2.1.1086.4486>; *J. Comput. Anal. Appl.* **22** (2017), in press.
- [17] X.-T. Shi, F.-F. Liu, and F. Qi, *An integral representation of the Catalan numbers*, *Glob. J. Math. Anal.* **3** (2015), no. 3, 130–133; Available online at <http://dx.doi.org/10.14419/gjma.v3i3.5055>.

URL: <https://qifeng618.wordpress.com>